BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE GRAND PRAIRIE HIGHLANDS SECTION 11 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JULY 19, 2024 LJA ENGINEERING, INC. AVIGAIL AMIGLEO JULY 22, 2024

#### BIDDER'S NAME

\$1,398,564.75
\$1,427,423.66
\$1,435,556.05
\$1,459,721.55
\$1,475,000.00
\$1,545,000.00

CALENDAR DAYS 45/55

7) R CONSTRUCTION CIVIL, LLC

CARISSA M. FABIAN

95659

CENSELOR

0386-5110C (9.2)

**TOTAL AMOUNT BID** 

\$1,603,670.00

I, Carissa Fabian, PE, hereby certify these bid tabulations to be true and correct.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

AARON G. FERGUSON, 713.953.5196, COMPLETE IN PLACE

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE GRAND PRAIRIE HIGHLANDS SECTION 11
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
JULY 19, 2024

JULY 19, 2024 LJA ENGINEERING, INC. AVIGAIL AMIGLEO JULY 22, 2024 0386-5110C (9.2)

	4) DUPMO			/OOD GREENE CONSTRUCTION CO.		State Coop Construction on the			
						2) ALLGOOD CONSTR		3) HC	G
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SECTI	ON 11 - PAVING ITEMS (INTERNAL)								
	ROADWAY, ROW AND LOT EXCAVATION, TO BE USED FOR ONSITE FILL TO MATCH ELEVATIONS PER GRADING PLAN (SHEET 12 OF 30), TO INCLUDE STRIPPING AND PROOFROLLING, HAULING, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	12964	\$4.00	\$51,856.00	\$4,38	\$56,782.32	\$3.60	\$46,670.40
	6° REINFORCED CONCRETE PAVEMENT, MINIMUM 3,000 PSI COMPRESSIVE STRENGTH AND MINIMUM 5 SACKS CEMENT PER CUBIC YARD OF MIX, COMPLETE IN PLACE	SY	18738	\$48.00	\$899,424.00	\$48.75	\$913,477.50	\$46.70	\$875,064.60
3	6" LIME/FLY ASH STABILIZED SUB-GRADE (MANIPULATION), INCLUDES COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	SY	19981	\$3,00	\$59,943.00	\$4.38	\$87,516.78	\$4.65	\$92,911.65
	HYDRATED LIME FOR STABILIZED SUB-GRADE (15 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	150	\$370.00	\$55,500.00	\$385.50	\$57,825.00	\$357.00	\$53,550.00
	FLY ASH FOR STABILIZED SUB-GRADE (40 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	400	\$132.00	\$52 <b>,80</b> 0.00	\$136.75	\$54,700.00	\$131,00	\$52,400.00
6	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	3215	\$3,75	\$12,056.25	\$3.30	\$10,609.50	\$3.85	\$12,377.75
7	4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	7811	\$3.75	\$29,291.25	\$3.30	\$25,776.30	\$3.85	\$30,072,35
	CONNECT PROPOSED 6" REINFORCED CONCRETE PAVEMENT TO EXISTING 6" CONCRETE PAVEMENT, COMPLETE IN PLACE	LF	56	\$10.00	\$560,00	\$2.20	\$123.20	\$32.50	\$1,820,00
9	STANDARD PAVING HEADER, COMPLETE IN PLACE	LF	168	\$10.00	\$1,680.00	\$2.20	\$369.60	\$19.00	\$3,192.00
	4" BLUE SQUARE DOUBLE REFLECTORIZED BUTTONS LOCATED ACROSS FROM FIRE HYDRANT, COMPLETE IN PLACE	EA	11	\$20,00	\$220.00	\$13.75	\$151.25	\$17.25	\$189,75
	PERMANENT TRAFFIC CONTROL DEVICES, (INCLUDING ALL TRAFFIC BUTTONS, MARKERS, PAVEMENT STRIPING), COMPLETE IN PLACE	LS	1	\$3,500.00	\$3,500.00	\$495.00	\$495.00	\$3,585.00	\$3,585.00
12	STREET SIGNS AND TRAFFIC SIGNS, COMPLETE IN PLACE	EA	12	\$800.00	\$9,600.00	\$495.00	\$5,940.00	\$730.00	\$8,760.00
	ADA RAMPS (TYPE 7), INCLUDING TRUNCATED DOME BRICKS, INCLUDES REMOVAL OF EXISTING CURB IF REQUIRED AND ALL OTHER APPURTENANCES, (PER DETAIL SHEET 35), COMPLETE IN PLACE	ĒΑ	18	\$1,600.00	\$28,800.00	\$902.00	\$16,236.00	\$1,820.00	\$32,760.00
14	REMOVE AND DISPOSE OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$10,00	\$10.00	\$165.00	\$165.00	\$200.00	\$200.00
	18' X 8' X 8" CONCRETE MAILBOX PAD WITH #3 BARS AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	2	\$2,200.00	\$4,400.00	\$2,090,00	\$4,180.00	\$2,025.00	\$4,050,00
16	INSTALL TYPE III BARRICADE, COMPLETE IN PLACE	EA	6	\$1,500.00	\$9,000,00	\$1,100.00	\$6,600.00	\$1,325.00	\$7,950.00
	FULL CONSTRUCTION STAKING FOR PAVING AND APPURTENANCES ITEMS, COORDINATE WITH LJA SURVEYING, INC., AARON G. FERGUSON, 713.953.5198, COMPLETE IN PLACE	LS	1	\$20,200.00	\$20,200.00	\$20,200.00	\$20,200.00	\$20,200.00	\$20,200.00
	AS BUILT SURVEY OF PAVING AND APPURTENANCES ITEMS SHOWING ELEVATIONS AT THE TOP OF CURB, BUILDING LINE, BACK OF LOT, SIGNIFICANT GRADE BREAKS AND EXTREME EVENT SWALES, INCLUDES A CERTIFIED EXHIBIT AND AN AUTOCAD FILE OF SURVEY, COORDINATE WITH LJA SURVEYING, INC.,	LS	1	\$7,600.00	\$7,600.00	\$7,600.00	\$7,600.00	\$7,600.00	\$7,600.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE GRAND PRAIRIE HIGHLANDS SECTION 11 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JULY 19, 2024 LJA ENGINEERING, INC.

JULY 19, 2024 LJA ENGINEERING, INC. AVIGAIL AMIGLEO JULY 22, 2024 0386-5110C (9.2)

					00.01.100 (0:17)					
					1) DURWOOD GREEN	E CONSTRUCTION CO.	2) ALLGOOD CONSTR	UCTION CO., INC.	3) HC0	G
	ITEM DESCRIPT	TON	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	19 EXTRA SURVEY TRIP FOR RESTAKING PREV STAKES THAT WERE DESTROYED BY OTHE RESTAKING DUE TO CONTRACTOR DESTRO OR FAILING TO PROTECT CONSTRUCTION S SUCH AS CONSTRUCTION TRAFFIC, ORDERI OR CONTRACTOR'S OWN EQUIPMENT, ETC.	RS (THIS ITEM DOES NOT INCLUDE YING OWN CONSTRUCTION STAKING TAKING FROM KNOWN HAZARDS ING STAKING TOO FAR IN ADVANCE,	DAY	1	\$2,000.00	\$2,000,00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
	20 FINAL LOT AND RESERVE GRADING, INCLUD HAULING, PLACEMENT, AND COMPACTION O OF STRIPPINGS, COMPLETE IN PLACE		EA	173	\$150,00	\$25,950.00	\$172.50	\$29,842.50	\$300,00	\$51,900.00
	21 REGRADING OF EXISTING ROAD SWALES, C DRAINAGE	ONTRACTOR TO ENSURE POSITIVE	LF	200	\$5.00	\$1,000.00	\$7.48	\$1,496.00	\$18.00	\$3,600,00
5	SECTION 11 - PAVING ITEMS (INTERNAL) SUBTOTA	L:				\$1,275,390.50		\$1,302,085.95		\$1,310,853.50
	SECTION 11 - PAVING ITEMS (TRUNK)									
	1 ROADWAY, ROW AND LOT EXCAVATION, TO MATCH ELEVATIONS PER GRADING PLAN (S STRIPPING AND PROOFROLLING, HAULING, 95% STANDARD PROCTOR DENSITY WITH M STRIPPINGS, COMPLETE IN PLACE	HEET 12 OF 30), TO INCLUDE PLACEMENT AND COMPACTION TO	CY	1367	\$4.00	\$5,468.00	\$4.38	\$5,987.46	\$3,60	\$4,921.20
	2 6° REINFORCED CONCRETE PAVEMENT, MIN STRENGTH AND MINIMUM 5 SACKS CEMENT COMPLETE IN PLACE		SY	1809	\$48,00	\$86,832.00	\$48,75	\$88,188.75	\$46.70	\$84,480.30
	3 6" LIME/FLY ASH STABILIZED SUB-GRADE (M COMPACTION TO 95% STANDARD PROCTOR		SY	1945	\$3,00	\$5,835.00	\$4,38	\$8,519.10	\$4,65	\$9,044.25
	4 HYDRATED LIME FOR STABILIZED SUB-GRAL CONDITIONS AND APPROVED BY GEOTECH! PLACE		TON	15	\$370.00	\$5,550.00	\$385,50	\$5,782.50	\$357.00	\$5,355.00
	5 FLY ASH FOR STABILIZED SUB-GRADE (40 LE CONDITIONS AND APPROVED BY GEOTECH PLACE		TON	39	\$132.00	\$5,148.00	\$136.75	\$5,333.25	\$131.00	\$5,109.00
	6 6" REINFORCED CONCRETE CURB, COMPLET	TE IN PLACE	LF	1163	\$3.75	\$4,361.25	\$3.30	\$3,837,90	\$3.85	\$4,477.55
	7 4" BLUE SQUARE DOUBLE REFLECTORIZED FIRE HYDRANT, COMPLETE IN PLACE	BUTTONS LOCATED ACROSS FROM	EA	1	\$20.00	\$20.00	\$13,75	\$13,75	\$17.25	\$17.25
	8 REMOVE AND DISPOSE OF EXISTING TYPE II	I BARRICADE, COMPLETE IN PLACE	EA	1	\$10,00	\$10.00	\$165,00	\$165,00	\$200.00	\$200.00
	9 STREET SIGNS AND TRAFFIC SIGNS, COMPL	ETE IN PLACE	EA	2	\$800.00	\$1,600.00	\$495.00	\$990.00	\$750.00	\$1,500.00
5	SECTION 11 - PAVING ITEMS (TRUNK) SUBTOTAL:					\$114,824.25		\$118,817.71		\$115,104.55
5	SECTION 11 - STORM WATER POLLUTION PREVEN	TTON PLAN ITEMS								
	1 STAGE II INLET PROTECTION BARRIER (4 GR PROPOSED AND EXISTING INLETS	AVEL BAGS PER INLET) FOR	EA	38	\$50.00	\$1,900.00	\$52.50	\$1,995,00	\$86.00	\$3,268.00
	2 STORMWATER POLLUTION PREVENTION INS A WEEKLY BASIS ACCORDING TO TOEQ PER		LS	1	\$1,500.00	\$1,500.00	\$1,575.00	\$1,575,00	\$1,035 00	\$1,035.00
	3 INSTALL, MAINTAIN, AND REMOVE REINFORG BARRIER FENCING), COMPLETE IN PLACE	CED FILTER FABRIC FENCE (SILT	LF	100	\$1.50	\$150.00	\$1.50	\$150,00	\$1.75	\$175.00
	4 INSTALL, MAINTAIN, AND REMOVE CONCRET COMPLETE IN PLACE	E TRUCK WASHOUT AREA,	EA	1	\$1,500.00	\$1,500.00	\$500,00	\$500.00	\$1,100.00	\$1,100.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE GRAND PRAIRIE HIGHLANDS SECTION 11
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
JULY 19, 2024
LJA ENGINEERING, INC.
AVIGAIL AMIGLEO
JULY 22, 2024
0386-5110C (9.2)

				1) DURWOOD GREENE	CONSTRUCTION CO.	UCTION CO. 2) ALLGOOD CONSTRUCTION CO., INC.		3) HCG		
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
	AND REMOVE STABILIZED CONSTRUCTION EXIT AND I TO MATCH FINISHED GRADE, (AS DIRECTED BY THE ETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$1,700.00	\$1,700.00	
FROM PROPERTY, IT CONTAINER AND RE	LINER, CONTRACTOR IS TO REMOVE ALL EXISTING TRASH EM INCLUDES AN ONSITE 30 CY CONTAINER, EMPTYING THE TURNING IT TO THE SITE, AND REMOVAL OF THE CONTAINER COMPLETE IN PLACE	EA	1	\$800.00	\$800.00	\$800.00	\$800.00	\$920.00	\$920.00	
SECTION 11 - STORM WATE	ER POLLUTION PREVENTION PLAN ITEMS SUBTOTAL:				\$7,350.00		\$5,520,00		\$8,198.00	
SECTION 11 - MISCELLANE	EOUS ITEMS									
AFTER 48 HOURS, PE	BILIZED SAND, 200 PSI MINIMUM COMPRESSIVE STRENGTH ER HARRIS COUNTY SPECIFICATIONS, (TO BE USED ONLY AT TION OF THE ENGINEER), COMPLETE IN PLACE	CY	50	\$20.00	\$1,000.00	\$20,00	\$1,000.00	\$28.00	\$1,400.00	
SECTION 11 - MISCELLANE	OUS ITEMS SUBTOTAL:				\$1,000.00	AV	\$1,000.00		\$1,400.00	
BIDDING SUMMARY										
SUBTOTAL SECTION 11 - PA	AVING ITEMS (INTERNAL)				\$1,275,390,50		\$1,302,085.95		\$1,310,853.50	
SUBTOTAL SECTION 11 - PA					\$114,824.25		\$118,817.71		\$115,104.55	
SUBTOTAL SECTION 11 - S	TORM WATER POLLUTION PRÉVENTION PLAN ITEMS				\$7,350.00		\$5,520.00		\$8,198.00	
SUBTOTAL SECTION 11 - M TOTAL AMOUNT BASE BID	ISCELLANEOUS ITEMS				\$1,000.00		\$1,000.00		\$1,400.00	

A) DUDUIGOD COSSULS CONSTRUISTON CO

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

AARON G. FERGUSON, 713.953.5196, COMPLETE IN PLACE

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE GRAND PRAIRIE HIGHLANDS SECTION 11 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JULY 19, 2024

LJA ENGINEERING, INC. AVIGAIL AMIGLEO JULY 22, 2024 0386-5110C (9.2)

				4) BEYER CONST	RUCTION, LLC	5) DACO PAV	/ING, INC.	6) ICON G	SC LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SECTION 1	1 - PAVING ITEMS (INTERNAL)								
MATO STRI 95%	DWAY, ROW AND LOT EXCAVATION, TO BE USED FOR ONSITE FILL TO CH ELEVATIONS PER GRADING PLAN (SHEET 12 OF 30), TO INCLUDE PPING AND PROOFROLLING, HAULING, PLACEMENT AND COMPACTION TO STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, REAPPLICATION OF PPINGS, COMPLETE IN PLACE	CY	12964	\$6.70	\$86,858.80	\$5.70	\$73,894.80	\$7.50	\$97,230.00
STRE	EINFORCED CONCRETE PAVEMENT, MINIMUM 3,000 PSI COMPRESSIVE ENGTH AND MINIMUM 5 SACKS CEMENT PER CUBIC YARD OF MIX, PLETE IN PLACE	SY	18738	\$49.25	\$922,846.50	\$48.50	\$908,793.00	\$49.00	\$918,162,00
	WE/FLY ASH STABILIZED SUB-GRADE (MANIPULATION), INCLUDES PACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	SY	19981	\$2,60	\$51,950.60	\$3,35	\$66,936,35	\$4.75	\$94,909.75
	RATED LIME FOR STABILIZED SUB-GRADE (15 LB/SY), AS REQUIRED BY SOIL DITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN E	TON	150	\$340.00	\$51,000,00	\$365.00	\$54,750.00	\$375.00	\$58,250,00
	ASH FOR STABILIZED SUB-GRADE (40 LB/SY), AS REQUIRED BY SOIL DITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN E	TON	400	\$127.00	\$50,800.00	\$165.00	\$66,000.00	\$145.00	\$58,000.00
6 6" RE	INFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	3215	\$4,50	\$14,467.50	\$4.30	\$13,824.50	\$4,00	\$12,860.00
7 4" X 1	12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	7811	\$4.50	\$35,149.50	\$4.30	\$33,587.30	\$4.00	\$31,244.00
	NECT PROPOSED 6" REINFORCED CONCRETE PAVEMENT TO EXISTING 6" CRETE PAVEMENT, COMPLETE IN PLACE	LF	56	\$23,00	\$1,288.00	\$5.50	\$308.00	\$1.00	\$56,00
9 STAN	DARD PAVING HEADER, COMPLETE IN PLACE	LF	168	\$23,00	\$3,864.00	\$17.00	\$2,856.00	\$1.00	\$168.00
	UE SQUARE DOUBLE REFLECTORIZED BUTTONS LOCATED ACROSS FROM HYDRANT, COMPLETE IN PLACE	EA	11	\$8,00	\$88.00	\$17,00	\$187.00	\$18.00	\$198,00
	MANENT TRAFFIC CONTROL DEVICES, (INCLUDING ALL TRAFFIC BUTTONS, KERS, PAVEMENT STRIPING), COMPLETE IN PLACE	LS	1	\$4,170.00	\$4,170.00	\$2,659,00	\$2,659.00	\$4,185.25	\$4,185.25
12 STRE	EET SIGNS AND TRAFFIC SIGNS, COMPLETE IN PLACE	EA	12	\$675.00	\$8,100.00	\$800.00	\$9,600.00	\$550.00	\$6,600.00
REMO	RAMPS (TYPE 7), INCLUDING TRUNCATED DOME BRICKS, INCLUDES OVAL OF EXISTING CURB IF REQUIRED AND ALL OTHER APPURTENANCES, DETAIL SHEET 35), COMPLETE IN PLACE	EA	18	\$1,285,00	\$23,130.00	\$1,400.00	\$25,200.00	\$1,475.00	\$26,550.00
14 REMO	OVE AND DISPOSE OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$30,00	\$30.00	\$1.00	\$1.00	\$10.00	\$10.00
	8' X 8" CONCRETE MAILBOX PAD WITH #3 BARS AT 15" O.C.E.W. OR EQUAL, "BANK SAND BEDDING (AS DIRECTED BY THE ENGINEER), COMPLETE IN E	EA	2	\$1,000.00	\$2,000.00	\$2,200.00	\$4,400.00	\$2,100.00	\$4,200.00
16 INST	ALL TYPE III BARRICADE, COMPLETE IN PLACE	EA	6	\$1,100.00	\$6,600,00	\$1,350.00	\$8,100,00	\$100.00	\$600,00
COOL	CONSTRUCTION STAKING FOR PAVING AND APPURTENANCES ITEMS, RDINATE WITH LJA SURVEYING, INC., AARON G. FERGUSON, 713.953.5196, PLETE IN PLACE	LS	1	\$20,200.00	\$20,200.00	\$20,200.00	\$20,200,00	\$20,200.00	\$20,200,00
ELEV GRAD	UILT SURVEY OF PAVING AND APPURTENANCES ITEMS SHOWING 'ATIONS AT THE TOP OF CURB, BUILDING LINE, BACK OF LOT, SIGNIFICANT DE BREAKS AND EXTREME EVENT SWALES, INCLUDES A CERTIFIED EXHIBIT AN AUTOCAD FILE OF SURVEY, COORDINATE WITH LJA SURVEYING, INC.	LS	1	\$7,600.00	\$7,600.00	\$7,600,00	\$7,600.00	\$7,600.00	\$7,600.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE GRAND PRAIRIE HIGHLANDS SECTION 11 CONSTRUCTION OF THE PAVING AND APPURTENANCES THARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JULY 19, 2024

LJA ENGINEERING, INC.
AVIGAIL AMIGLEO
JULY 22, 2024

20110			,	300-31100 (3,2)					
				4) BEYER CONST	RUCTION, LLC	5) DACO PAV	ING, INC.	6) ICON G	C LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	EXTRA SURVEY TRIP FOR RESTAKING PREVIOUSLY PROVIDED CONSTRUCTION STAKES THAT WERE DESTROYED BY OTHERS (THIS ITEM DOES NOT INCLUDE RESTAKING DUE TO CONTRACTOR DESTROYING OWN CONSTRUCTION STAKING OR FAILING TO PROTECT CONSTRUCTION STAKING FROM KNOWN HAZARDS SUCH AS CONSTRUCTION TRAFFIC, ORDERING STAKING TOO FAR IN ADVANCE, OR CONTRACTOR'S OWN EQUIPMENT, ETC.)	DAY	1	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000,00	\$2,000.00	\$2,000.00
	FINAL LOT AND RESERVE GRADING, INCLUDING STRIPPING AND PROOFROLLING, HAULING, PLACEMENT, AND COMPACTION OF MATERIALS AND REPLACEMENT OF STRIPPINGS, COMPLETE IN PLACE	EA	173	\$205.00	\$35,465,00	\$200.00	\$34,600.00	\$370.00	\$64,010.00
	REGRADING OF EXISTING ROAD SWALES, CONTRACTOR TO ENSURE POSITIVE DRAINAGE	LF	200	\$6,00	\$1,200,00	\$6,50	\$1,300.00	\$10,00	\$2,000.00
SECT	ON 11 - PAVING ITEMS (INTERNAL) SUBTOTAL:				\$1,328,807.90		\$1,336,796,95		\$1,407,033.00
SECT	ON 11 - PAVING ITEMS (TRUNK)								
	ROADWAY, ROW AND LOT EXCAVATION, TO BE USED FOR ONSITE FILL TO MATCH ELEVATIONS PER GRADING PLAN (SHEET 12 OF 30), TO INCLUDE STRIPPING AND PROOFROLLING, HAULING, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8° LIFTS, REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	1367	\$6,70	\$9,158,90	\$5,70	\$7,791,90	\$6.00	\$8,202.00
	6° REINFORCED CONCRETE PAVEMENT, MINIMUM 3,000 PSI COMPRESSIVE STRENGTH AND MINIMUM 5 SACKS CEMENT PER CUBIC YARD OF MIX, COMPLETE IN PLACE	SY	1809	\$49.25	\$89,093.25	\$48.50	\$87,736,50	\$51.00	\$92,259.00
	6" LIME/FLY ASH STABILIZED SUB-GRADE (MANIPULATION), INCLUDES COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	SY	1945	\$2.60	\$5,057.00	\$3,35	\$6,515,75	\$6.80	\$13,226.00
	HYDRATED LIME FOR STABILIZED SUB-GRADE (15 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	15	\$340,00	\$5,100,00	\$365,00	\$5,475.00	\$375,00	\$5,625,00
	FLY ASH FOR STABILIZED SUB-GRADE (40 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	39	\$127.00	\$4,953,00	\$160,00	\$6,240.00	\$145,00	\$5,655.00
6	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	1163	\$4.50	\$5,233.50	\$4.30	\$5,000.90	\$4.00	\$4,652.00
	4" BLUE SQUARE DOUBLE REFLECTORIZED BUTTONS LOCATED ACROSS FROM FIRE HYDRANT, COMPLETE IN PLACE	EA	1	\$8,00	\$8.00	\$17,00	\$17,00	\$18.00	\$18.00
8	REMOVE AND DISPOSE OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$30,00	\$30.00	\$1,00	\$1.00	\$10.00	\$10.00
9	STREET SIGNS AND TRAFFIC SIGNS, COMPLETE IN PLACE	EA	2	\$725,00	\$1,450.00	\$800,00	\$1,600,00	\$570.00	\$1,140.00
SECTI	ON 11 - PAVING ITEMS (TRUNK) SUBTOTAL:				\$120,083.65		\$120,378.05		\$130,787.00
SECTI	ON 11 - STORM WATER POLLUTION PREVENTION PLAN ITEMS								
	STAGE II INLET PROTECTION BARRIER (4 GRAVEL BAGS PER INLET) FOR PROPOSED AND EXISTING INLETS	EA	38	\$10.00	\$380.00	\$175.00	\$6,650.00	\$10.00	\$380.00
	STORMWATER POLLUTION PREVENTION INSPECTION REPORTS CONDUCTED ON A WEEKLY BASIS ACCORDING TO TCEQ PERMIT, COMPLETE IN PLACE	LS	1	\$7,500.00	\$7,500.00	\$6,200.00	\$6,200.00	\$1,500.00	\$1,500.00
	INSTALL, MAINTAIN, AND REMOVE REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING), COMPLETE IN PLACE	LF	100	\$1,50	\$150,00	\$2,75	\$275.00	\$5.00	\$500.00
	INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$650.00	\$650.00	\$500,00	\$500.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE GRAND PRAIRIE HIGHLANDS SECTION 11
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
JULY 19, 2024
LJA ENGINEERING, INC.
AVIGAIL AMIGLEO
JULY 22, 2024

			4) BEYER CONSTRUCTION, LLC		5) DACO PAVING, INC.		6) ICON GC LLC	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
5 INSTALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT AND REGRADE THE AREA TO MATCH FINISHED GRADE, (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00
6 30 CY TRASH CONTAINER, CONTRACTOR IS TO REMOVE ALL EXISTING TRASH FROM PROPERTY, ITEM INCLUDES AN ONSITE 30 CY CONTAINER, EMPTYING THE CONTAINER AND RETURNING IT TO THE SITE, AND REMOVAL OF THE CONTAINER UPON COMPLETION, COMPLETE IN PLACE	EA	1	\$800.00	\$800,00	\$800.00	\$800.00	\$1,000.00	\$1,000.00
SECTION 11 - STORM WATER POLLUTION PREVENTION PLAN ITEMS SUBTOTAL:				\$9,830.00		\$16,075.00		\$4,380.00
SECTION 11 - MISCELLANEOUS ITEMS								
1 EXTRA CEMENT STABILIZED SAND, 200 PSI MINIMUM COMPRESSIVE STRENGTH AFTER 48 HOURS, PER HARRIS COUNTY SPECIFICATIONS, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	CY	50	\$20.00	\$1,000,00	\$35.00	\$1,750.00	\$56.00	\$2,800.00
SECTION 11 - MISCELLANEOUS ITEMS SUBTOTAL:				\$1,000.00		\$1,750.00		\$2,800.00
BIDDING SUMMARY								
SUBTOTAL SECTION 11 - PAVING ITEMS (INTERNAL)				\$1,328,807.90		\$1,336,796.95		\$1,407,033.00
SUBTOTAL SECTION 11 - PAVING ITEMS (TRUNK)				\$120,083.65		\$120,378.05		\$130,787.00
SUBTOTAL SECTION 11 - STORM WATER POLLUTION PREVENTION PLAN ITEMS				\$9,830.00		\$16,075.00		\$4,380.00
SUBTOTAL SECTION 11 - MISCELLANEOUS ITEMS				\$1,000.00		\$1,750.00		\$2,800.00
		9						

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE GRAND PRAIRIE HIGHLANDS SECTION 11 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JULY 19, 2024 LJA ENGINEERING, INC. AVIGAIL AMIGLEO

7) R CONSTRUCTION CIVIL, LLC

JULY 22, 2024

				7) R CONSTRUCTI	ON CIVIL, LLC
ITEN	M DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
SEC	CTION 11 - PAVING ITEMS (INTERNAL)				
1	1 ROADWAY, ROW AND LOT EXCAVATION, TO BE USED FOR ONSITE FILL TO MATCH ELEVATIONS PER GRADING PLAN (SHEET 12 OF 39), TO INCLUDE STRIPPING AND PROOFROLLING, HAULING, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8° LIFTS, REAPPLICATION STRIPPINGS, COMPLETE IN PLACE		12964	\$5.00	\$64,820.00
2	2 6" REINFORCED CONCRETE PAVEMENT, MINIMUM 3,000 PSI COMPRESSIVE STRENGTH AND MINIMUM 5 SACKS CEMENT PER CUBIC YARD OF MIX, COMPLETE IN PLACE	SY	18738	\$53,00	\$993,114.00
3	3 6" LIME/FLY ASH STABILIZED SUB-GRADE (MANIPULATION), INCLUDES COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	SY	19981	\$5.00	\$99,905.00
4	4 HYDRATED LIME FOR STABILIZED SUB-GRADE (15 LB/SY), AS REQUIRED BY SO CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	IL TON	150	\$350,00	\$52,500.00
5	5 FLY ASH FOR STABILIZED SUB-GRADE (40 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	400	\$140,00	\$56,000,00
6	6 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	3215	\$4,00	\$12,860.00
7	7 4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	7811	\$4.00	\$31,244.00
8	8 CONNECT PROPOSED 6" REINFORCED CONCRETE PAVEMENT TO EXISTING 6" CONCRETE PAVEMENT, COMPLETE IN PLACE	LF	56	\$50,00	\$2,800,00
9	9 STANDARD PAVING HEADER, COMPLETE IN PLACE	LF	168	\$30,00	\$5,040.00
10	0 4" BLUE SQUARE DOUBLE REFLECTORIZED BUTTONS LOCATED ACROSS FROM FIRE HYDRANT, COMPLETE IN PLACE	A EA	11	\$15.00	\$165,00
11	1 PERMANENT TRAFFIC CONTROL DEVICES, (INCLUDING ALL TRAFFIC BUTTONS, MARKERS, PAVEMENT STRIPING), COMPLETE IN PLACE	LS	1	\$3,700.00	\$3,700,00
12	2 STREET SIGNS AND TRAFFIC SIGNS, COMPLETE IN PLACE	EA	12	\$475.00	\$5,700.00
13	3 ADA RAMPS (TYPE 7), INCLUDING TRUNCATED DOME BRICKS, INCLUDES REMOVAL OF EXISTING CURB IF REQUIRED AND ALL OTHER APPURTENANCES (PER DETAIL SHEET 35), COMPLETE IN PLACE	EA	18	\$2,100.00	\$37,800.00
14	4 REMOVE AND DISPOSE OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$1.00	\$1.00
15	5 18' X 8' X 8" CONCRETE MAILBOX PAD WITH #3 BARS AT 15" O.C.E.W. OR EQUAL ON 2" BANK SAND BEDDING (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	., EA	2	\$7,400.00	\$14,800,00
16	6 INSTALL TYPE III BARRICADE, COMPLETE IN PLACE	EA	6	\$1,050.00	\$6,300.00
17	7 FULL CONSTRUCTION STAKING FOR PAVING AND APPURTENANCES ITEMS, COORDINATE WITH LJA SURVEYING, INC., AARON G. FERGUSON, 713.953.5196, COMPLETE IN PLACE	LS	1	\$20,200.00	\$20,200.00
18	8 AS BUILT SURVEY OF PAVING AND APPURTENANCES ITEMS SHOWING ELEVATIONS AT THE TOP OF CURB, BUILDING LINE, BACK OF LOT, SIGNIFICANT GRADE BREAKS AND EXTREME EVENT SWALES, INCLUDES A CERTIFIED EXHIB AND AN AUTOCAD FILE OF SURVEY, COORDINATE WITH LIA SURVEYING, INC., AARON G. FERGUSON, 713.953.5196, COMPLETE IN PLACE		1	\$7,600.00	\$7,600.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE GRAND PRAIRIE HIGHLANDS SECTION 11 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JULY 19, 2024

LJA ENGINEERING, INC.

AVIGAIL AMIGLEO

JULY 22, 2024

#### 7) R CONSTRUCTION CIVIL, LLC

					1711 00110111001101	
IT	TEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
	STAKES THAT WERE DESTRO RESTAKING DUE TO CONTRAC OR FAILING TO PROTECT CON	TAKING PREVIOUSLY PROVIDED CONSTRUCTION YED BY OTHERS (THIS ITEM DOES NOT INCLUDE ITOR DESTROYING OWN CONSTRUCTION STAKING STRUCTION STAKING FROM KNOWN HAZARDS FIFIC, ORDERING STAKING TOO FAR IN ADVANCE, IPMENT, ETC.)	DAY	1	\$2,000.00	\$2,000.00
		DING, INCLUDING STRIPPING AND PROOFROLLING OMPACTION OF MATERIALS AND REPLACEMENT PLACE	, EA	173	\$240.00	\$41,520.00
	21 REGRADING OF EXISTING ROADRAINAGE	D SWALES, CONTRACTOR TO ENSURE POSITIVE	LF	200	\$5,00	\$1,000,00
SI	ECTION 11 - PAVING ITEMS (INTERN	AL) SUBTOTAL:				\$1,459,069.00
	ECTION 11 - PAVING ITEMS (TRUNK					\$1,433,005.00
	1 ROADWAY, ROW AND LOT EXC MATCH ELEVATIONS PER GRA STRIPPING AND PROOFROLLIN	AVATION, TO BE USED FOR ONSITE FILL TO DING PLAN (SHEET 12 OF 30), TO INCLUDE IG, HAULING, PLACEMENT AND COMPACTION TO VSITY WITH MAXIMUM 8" LIFTS, REAPPLICATION OF	CY	1367	\$5.00	\$6,835.00
		AVEMENT, MINIMUM 3,000 PSI COMPRESSIVE CKS CEMENT PER CUBIC YARD OF MIX,	SY	1809	\$57,00	\$103,113.00
		UB-GRADE (MANIPULATION), INCLUDES RD PROCTOR DENSITY, COMPLETE IN PLACE	SY	1945	\$6.00	\$11,670,00
		ED SUB-GRADE (15 LB/SY), AS REQUIRED BY SOIL BY GEOTECHNICAL ENGINEER, COMPLETE IN	TON	15	\$350.00	\$5,250.00
	5 FLY ASH FOR STABILIZED SUB CONDITIONS AND APPROVED I PLACE	GRADE (40 LB/SY), AS REQUIRED BY SOIL BY GEOTECHNICAL ENGINEER, COMPLETE IN	TON	39	\$140,00	\$5,460,00
	6 6" REINFORCED CONCRETE CO	JRB, COMPLETE IN PLACE	LF	1163	\$4.00	\$4,652.00
	7 4" BLUE SQUARE DOUBLE REF FIRE HYDRANT, COMPLETE IN	LECTORIZED BUTTONS LOCATED ACROSS FROM PLACE	EA	1	\$20.00	\$20.00
	8 REMOVE AND DISPOSE OF EXI	STING TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$1.00	\$1.00
	9 STREET SIGNS AND TRAFFIC S	IGNS, COMPLETE IN PLACE	EA	2	\$475.00	\$950.00
SE	ECTION 11 - PAVING ITEMS (TRUNK	SUBTOTAL:				\$137,951.00
SE	ECTION 11 - STORM WATER POLLU	TION PREVENTION PLAN ITEMS				
	1 STAGE II INLET PROTECTION B PROPOSED AND EXISTING INL	ARRIER (4 GRAVEL BAGS PER INLET) FOR	EA	38	\$25.00	\$950.00
		EVENTION INSPECTION REPORTS CONDUCTED ON TO TCEQ PERMIT, COMPLETE IN PLACE	LS	1	\$1,200.00	\$1,200,00
	3 INSTALL, MAINTAIN, AND REMO BARRIER FENCING), COMPLETI	VE REINFORCED FILTER FABRIC FENCE (SILT E IN PLACE	LF	100	\$2.00	\$200.00
	4 INSTALL, MAINTAIN, AND REMO COMPLETE IN PLACE	VE CONCRETE TRUCK WASHOUT AREA,	EA	1	\$500.00	\$500.00

**BID OPENING DATE:** BID OPENING LOCATION: TABULATION BY: **TABULATION DATE:** LJA JOB NO.

ITEM

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE GRAND PRAIRIE HIGHLANDS SECTION 11 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JULY 19, 2024 LJA ENGINEERING, INC. AVIGAIL AMIGLEO JULY 22, 2024 0386-5110C (9.2)

#### 7) R CONSTRUCTION CIVIL, LLC

\$50.00

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
5	INSTALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT AND REGRADE THE AREA TO MATCH FINISHED GRADE, (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$500.00	\$500,00
6	30 CY TRASH CONTAINER, CONTRACTOR IS TO REMOVE ALL EXISTING TRASH FROM PROPERTY, ITEM INCLUDES AN ONSITE 30 CY CONTAINER, EMPTYING THE CONTAINER AND RETURNING IT TO THE SITE, AND REMOVAL OF THE CONTAINER UPON COMPLETION, COMPLETE IN PLACE	EA	1	\$800.00	\$800.00
SECT	ION 11 - STORM WATER POLLUTION PREVENTION PLAN ITEMS SUBTOTAL:				\$4,150.00
SECT	TION 11 - MISCELLANEOUS ITEMS				

CY

50

# THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE SECTION 11 - MISCELLANEOUS ITEMS SUBTOTAL:

# BIDDING SUMMARY

SUBTOTAL SECTION 11 - PAVING ITEMS (INTERNAL)

SUBTOTAL SECTION 11 - PAVING ITEMS (TRUNK)

\$4,150.b \$2,500.00 \$1,803,870.00 SUBTOTAL SECTION 11 - STORM WATER POLLUTION PREVENTION PLAN ITEMS

1 EXTRA CEMENT STABILIZED SAND, 200 PSI MINIMUM COMPRESSIVE STRENGTH

AFTER 48 HOURS, PER HARRIS COUNTY SPECIFICATIONS, (TO BE USED ONLY AT

SUBTOTAL SECTION 11 - MISCELLANEOUS ITEMS

**TOTAL AMOUNT BASE BID** 

\$2,500.00

\$2,500.00

\$1,459,069.00

\$137,951.00